South East Asian J. of Mathematics and Mathematical Sciences Vol. 18, No. 2 (2022), pp. 53-64

DOI: 10.56827/SEAJMMS.2022.1802.5

ISSN (Online): 2582-0850 ISSN (Print): 0972-7752

# ON CERTAIN IDENTITIES INVOLVING BASIC (q)HYPERGEOMETRIC SERIES

Chandan Kumar Singh, Satya Prakash Singh and Vijay Yadav\*

Department of Mathematics, Tilak Dhari Post Graduate College, Jaunpur - 222002, Uttar Pradesh, INDIA

E-mail : chandansin25@gmail.com, snsp39@gmail.com

\*Department of Mathematics, SPDT College, Andheri (E), Mumbai, INDIA

E-mail : vijaychottu@yahoo.com

(Received: Jun. 17, 2021 Accepted: Apr. 28, 2022 Published: Aug. 30, 2022)

Abstract: In this paper we establish certain identities by making use of Bailey's  $_{2}\Psi_{2}$  transformation formula. Special cases of these identities have also been discussed.

**Keywords and Phrases:** Transformation formula, identity, basic bilateral hypergeometric series, summation formula.

2020 Mathematics Subject Classification: 33C15, 33C20, 33D15.

### 1. Introduction, Notations and Definitions

Throughout the present paper, we adopt the following notations and definitions. For a and q complex numbers with |q| < 1 the q-shifted factorial is defined as,

$$(a;q)_n = \frac{(a;q)_\infty}{(aq^n;q)_\infty} = (1-a)(1-aq)\dots(1-aq^{n-1}),$$
$$(a;q)_0 = 1$$

and

$$(a;q)_{\infty} = \prod_{r=0}^{\infty} (1 - aq^r).$$

For brevity we write,

$$(a_1;q)_n(a_2;q)_n...(a_r;q)_n = (a_1,a_2,...,a_r;q)_n$$

Also,

$$(a;q)_{-n} = \frac{(-1)^n q^{n(n+1)/2}}{a^n (q/a;q)_n}.$$

Following [Gasper and Rahman [5]] the basic hypergeometric series is defined as,

$${}_{r}\Phi_{s}\left[\begin{array}{c}a_{1},a_{2},...,a_{r};q;z\\b_{1},b_{2},...,b_{s}\end{array}\right] = \sum_{n=0}^{\infty}\frac{(a_{1},a_{2},...,a_{r};q)_{n}}{(q,b_{1},b_{2},...,b_{s};q)_{n}}z^{n}\left\{(-1)^{n}q^{n(n-1)/2}\right\}^{1+s-r},\ (1.1)$$

which converges for  $|z| < \infty$  if  $r \leq s$  and for |z| < 1 if r = s + 1. The basic bilateral hypergeometric series is defined as

$${}_{r}\Psi_{s}\left[\begin{array}{c}a_{1},a_{2},...,a_{r};q;z\\b_{1},b_{2},...,b_{s}\end{array}\right] = \sum_{n=-\infty}^{\infty} \frac{(a_{1},a_{2},...,a_{r};q)_{n}}{(b_{1},b_{2},...,b_{s};q)_{n}} z^{n} \left\{(-1)^{n} q^{n(n-1)/2}\right\}^{s-r}, \quad (1.2)$$

which converges for  $\left|\frac{b_1b_2...b_s}{a_1a_2...a_r}\right| < |z| < 1$  if r = s and for s > r it converges in the whole complex-plane i.e. for  $|z| < \infty$ .

A great deal of literature is available on special functions of two and more variables, transformations formulas and identities [1, 2, 5]. However, the literature on basic multiple hypergeometric functions seems to be a lot less extensive. Apart from the aforementioned work on basic (q) series identities have developed [6, 7, 8, 9, 10, 11]various interesting properties of basic (q) series and their generalizations and special cases. In the present paper we prove a number of general bilateral q-series identities and transformations which are shown to be applicable in the derivation of continued fraction and partition theoretic interpretation and its generating functions. We also consider several other interesting consequences of some of the results presented here.

54

### 2. Main Results

In this section we establish following results

$$(b-c) {}_{3}\Psi_{3} \begin{bmatrix} a, b, c; q; \frac{1}{a} \\ d, bq, cq \end{bmatrix} = \frac{(q; q)_{\infty}^{2}}{(q/a, d; q)_{\infty}} \\ \times \left\{ b^{2}(1-c) \frac{(bq/a, d/b; q)_{\infty}}{(bq, q/b; q)_{\infty}} - c^{2}(1-b) \frac{(cq/a, d/c; q)_{\infty}}{(cq, q/c; q)_{\infty}} \right\}.$$
(2.1)

$$(b-c) {}_{3}\Psi_{3} \begin{bmatrix} a, b, c; q; \frac{q}{a} \\ d, bq, cq \end{bmatrix} = \frac{(q; q)_{\infty}^{2}}{(q/a, d; q)_{\infty}} \\ \times \left\{ b(1-c) \frac{(bq/a, d/b; q)_{\infty}}{(bq, q/b; q)_{\infty}} - c(1-b) \frac{(cq/a, d/c; q)_{\infty}}{(cq, q/c; q)_{\infty}} \right\}.$$
(2.2)

$${}_{4}\Psi_{4}\left[\begin{array}{c}a,b,cq,\lambda q;q;\frac{1}{a}\\d,bq,c,\lambda\end{array}\right] = \frac{(b-c)(b-\lambda)}{b(1-\lambda)(1-c)}\frac{(q;q)_{\infty}^{2}(bq/a,d/b;q)_{\infty}}{(q/a,q/b,d,bq;q)_{\infty}}.$$
(2.3)

## Proof of (2.1)-(2.3)

Let us consider the Bailey's transform,

$${}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;z\\d,c\end{array}\right] = \frac{(az,d/a,c/b,dq/abz;q)_{\infty}}{(z,d,q/b,cd/abz;q)_{\infty}} {}_{2}\Psi_{2}\left[\begin{array}{c}a,abz/d;q;d/a\\az,c\end{array}\right].$$
 (2.4)  
[5; (5.20) (i), p.150]

Putting c = bq and z = q/a in (2.4) we have,

$${}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;q/a\\d,bq\end{array}\right] = \frac{(q;q)_{\infty}^{2}(d/a,d/b;q)_{\infty}}{(q/a,q/b,d,d;q)_{\infty}} {}_{2}\Phi_{1}\left[\begin{array}{c}a,bq/d;q;d/a\\bq\end{array}\right].$$
 (2.5)

Summing the  $_{2}\Phi_{1}$ -series by making use of [5; App. II (II.8)] we have,

$${}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;q/a\\d,bq\end{array}\right] = \frac{(q;q)_{\infty}^{2}(bq/a,d/b;q)_{\infty}}{(q/a,q/b,d,bq;q)_{\infty}},$$
(2.6)

which is a known result [3; (1.1) p. 165]. Now, let us consider

$${}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;1/a\\d,bq\end{array}\right] - b {}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;q/a\\d,bq\end{array}\right] = \sum_{n=-\infty}^{\infty} \frac{(a;q)_{n}(1-b)}{(d;q)_{n}}\frac{1}{a^{n}}$$

$$= (1-b) {}_{1}\Psi_{1} \left[ \begin{array}{c} a; q; 1/a \\ d \end{array} \right].$$

$$(2.7)$$

If we make use of the summation formula [5; App. II (II.20)] to sum  $_1\Psi_1$ -series in (2.7) we get,

$${}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;1/a\\d,bq\end{array}\right] = b {}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;q/a\\d,bq\end{array}\right].$$
(2.8)

From (2.6) and (2.8) we find,

$${}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;1/a\\d,bq\end{array}\right] = b\frac{(q;q)_{\infty}^{2}(bq/a,d/b;q)_{\infty}}{(q/a,q/b,d,bq;q)_{\infty}}.$$
(2.9)

Now, consider

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,c;q;1/a\\d,bq,cq\end{array}\right]-c{}_{3}\Psi_{3}\left[\begin{array}{c}a,b,c;q;q/a\\d,bq,cq\end{array}\right]=(1-c){}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;1/a\\d,bq\end{array}\right].$$
(2.10)

From (2.9) and (2.10) we get,

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,c;q;1/a\\d,bq,cq\end{array}\right] - c {}_{3}\Psi_{3}\left[\begin{array}{c}a,b,c;q;q/a\\d,bq,cq\end{array}\right] = (1-c)b\frac{(q;q)_{\infty}^{2}(bq/a,d/b;q)_{\infty}}{(q/a,q/b,d,bq;q)_{\infty}}.$$
(2.11)

Again, interchanging b and c in (2.11) we get,

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,c;q;1/a\\d,bq,cq\end{array}\right] - b_{3}\Psi_{3}\left[\begin{array}{c}a,b,c;q;q/a\\d,bq,cq\end{array}\right] = (1-b)c\frac{(q;q)_{\infty}^{2}(cq/a,d/c;q)_{\infty}}{(q/a,q/c,d,cq;q)_{\infty}}.$$
(2.12)

Substracting (2.12) from (2.11) we get

$$(b-c) {}_{3}\Psi_{3} \begin{bmatrix} a, b, c; q; \frac{q}{a} \\ d, bq, cq \end{bmatrix} = \frac{(q; q)_{\infty}^{2}}{(q/a, d; q)_{\infty}} \\ \times \left\{ b(1-c) \frac{(bq/a, d/b; q)_{\infty}}{(bq, q/b; q)_{\infty}} - c(1-b) \frac{(cq/a, d/c; q)_{\infty}}{(cq, q/c; q)_{\infty}} \right\}$$
(2.13)

which is precisely (2.2).

Multiplying (2.11) by b and (2.12) by c and then Substracting second from first we

have,

$$(b-c) {}_{3}\Psi_{3} \begin{bmatrix} a, b, c; q; \frac{1}{a} \\ d, bq, cq \end{bmatrix} = \frac{(q; q)_{\infty}^{2}}{(q/a, d; q)_{\infty}} \\ \times \left\{ b^{2}(1-c) \frac{(bq/a, d/b; q)_{\infty}}{(bq, q/b; q)_{\infty}} - c^{2}(1-b) \frac{(cq/a, d/c; q)_{\infty}}{(cq, q/c; q)_{\infty}} \right\}$$
(2.14)

which is precisely (2.1). Let us now consider,

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,cq;q;1/a\\d,bq,c\end{array}\right] = \sum_{n=-\infty}^{\infty} \frac{(a,b;q)_{n}}{(d,bq;q)_{n}} \frac{1}{a^{n}} \left(\frac{1-cq^{n}}{1-c}\right)$$
$$= \frac{1}{1-c} {}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;1/a\\d,bq\end{array}\right] - \frac{c}{1-c} {}_{2}\Psi_{2}\left[\begin{array}{c}a,b;q;q/a\\d,bq\end{array}\right].$$
(2.15)

Using (2.6) and (2.9) in (2.15) we get,

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,cq;q;1/a\\d,bq,c\end{array}\right] = \frac{(b-c)}{(1-c)}\frac{(q;q)_{\infty}^{2}(bq/a,d/b;q)_{\infty}}{(q/a,q/b,d,bq;q)_{\infty}}.$$
(2.16)

which is a known result [4, page 305]. Now, let us consider

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,cq;q;1/a\\d,bq,c\end{array}\right] - b_{3}\Psi_{3}\left[\begin{array}{c}a,b,cq;q;q/a\\d,bq,c\end{array}\right]$$
$$= (1-b)_{2}\Psi_{2}\left[\begin{array}{c}a,cq;q;1/a\\d,c\end{array}\right]$$
$$= \frac{1-b}{1-c}_{1}\Psi_{1}\left[\begin{array}{c}a;q;1/a\\d\end{array}\right] - \frac{c(1-b)}{1-c}_{1}\Psi_{1}\left[\begin{array}{c}a;q;q/a\\d\end{array}\right].$$
(2.17)

Summing  $_{1}\Psi_{1}$  series in (2.17) by using [5; App. II (II.20)] we find,

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,cq;q;1/a\\d,bq,c\end{array}\right] = b {}_{3}\Psi_{3}\left[\begin{array}{c}a,b,cq;q;q/a\\d,bq,c\end{array}\right].$$
(2.18)

Thus from (2.16) and (2.18) we have

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,cq;q;q/a\\d,bq,c\end{array}\right] = \frac{(b-c)}{b(1-c)}\frac{(q;q)_{\infty}^{2}(bq/a,d/b;q)_{\infty}}{(q/a,q/b,d,bq;q)_{\infty}}.$$
(2.19)

Again, proceeding by taking

$${}_{4}\Psi_{4}\begin{bmatrix}a,b,cq,\lambda q;q;1/a\\d,bq,c,\lambda\end{bmatrix} = \sum_{n=-\infty}^{\infty} \frac{(a,b,cq;q)_{\infty}}{(d,bq,c;q)_{\infty}} \left(\frac{1-\lambda q^{n}}{1-\lambda}\right) \frac{1}{a^{n}}$$
$$= \frac{1}{1-\lambda} {}_{3}\Psi_{3}\begin{bmatrix}a,b,cq;q;1/a\\d,bq,c\end{bmatrix} - \frac{\lambda}{1-\lambda} {}_{3}\Psi_{3}\begin{bmatrix}a,b,cq;q;q/a\\d,bq,c\end{bmatrix}.$$
(2.20)

Making use of (2.16) and (2.19) in (2.20) we have

$${}_{4}\Psi_{4}\left[\begin{array}{c}a,b,cq,\lambda q;q;1/a\\d,bq,c,\lambda\end{array}\right] = \frac{(b-c)(b-\lambda)}{b(1-\lambda)(1-c)}\frac{(q;q)_{\infty}^{2}(bq/a,d/b;q)_{\infty}}{(q/a,q/b,d,bq;q)_{\infty}},\qquad(2.21)$$

which is precisely (2.3).

## 3. Special Cases

In this section we deduce certain special cases of the results established in section 2.

(i) Taking d = 0 and  $a \to \infty$  in (2.1) we get,

$$(b-c)\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(1-bq^n)(1-cq^n)} = (q;q)_{\infty}^2 \left\{ \frac{b^2}{(1-b)} \frac{1}{(bq,q/b;q)_{\infty}} - \frac{c^2}{(1-c)} \frac{1}{(cq,q/c;q)_{\infty}} \right\}.$$
 (3.1)

Putting  $b = e^{i\theta}$  and  $c = e^{-i\theta}$  in (3.1) we get,

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(1-2q^n \cos \theta + q^{2n})} = \frac{(2\cos \theta - 1)}{(1-\cos \theta)} \frac{(q;q)_{\infty}^2}{\prod_{n=1}^{\infty} (1-2q^n \cos \theta + q^{2n})}.$$
 (3.2)

Taking  $\theta = \pi/2$  in (3.2) we have

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(1+q^{2n})} = -\frac{(q;q)_{\infty}^2}{\prod_{n=1}^{\infty} (1+q^{2n})} = -\frac{(q;q)_{\infty}^2}{(-q^2;q^2)_{\infty}^2}.$$
 (3.3)

Taking  $\theta = \pi$  in (3.2) we get,

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(1+q^n)^2} = \frac{-3}{2} \frac{(q;q)_{\infty}^2}{\prod_{n=1}^{\infty} (1+q^n)^2} = \frac{-3}{2} \frac{(q;q)_{\infty}^2}{(-q;q)_{\infty}^2}.$$
 (3.4)

Putting  $\frac{\pi}{2} + \theta$  for  $\theta$  in (3.1) we have

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(1+2q^n \sin \theta + q^{2n})} = -\frac{1+2\sin \theta}{1+\sin \theta} \frac{(q;q)_{\infty}^2}{\prod_{n=1}^{\infty} (1+2q^n \sin \theta + q^{2n})}.$$
 (3.5)

(ii) Taking d = 0 and  $a \to \infty$  in (2.2) we get,

$$(b-c)\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(1-bq^n)(1-cq^n)} = (q;q)_{\infty}^2 \left\{ \frac{b}{(1-b)} \frac{1}{(bq,q/b;q)_{\infty}} - \frac{c}{(1-c)} \frac{1}{(cq,q/c;q)_{\infty}} \right\}.$$
 (3.6)

(3.6) can be expressed as,

$$(b-c)\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(1-bq^n)(1-cq^n)} = (q;q)_{\infty}^2 \left\{ \frac{(1-c)}{(c,1/c;q)_{\infty}} - \frac{(1-b)}{(b,1/b;q)_{\infty}} \right\}.$$
$$= (q;q)_{\infty} \left\{ \frac{(q;q)_{\infty}}{(1-1/c)(cq,q/c;q)_{\infty}} - \frac{(q;q)_{\infty}}{(1-1/b)(bq,q/b;q)_{\infty}} \right\}.$$
(3.6A)

Comparing (3.6A) with [2; (3.8) p. 34] we have,

$$(q;q)_{\infty} \left\{ \frac{b}{1-b} \sum_{m=-\infty}^{\infty} \sum_{n=0}^{\infty} N_{v}(m,n) b^{m} q^{n} - \frac{c}{1-c} \sum_{m=-\infty}^{\infty} \sum_{n=0}^{\infty} N_{v}(m,n) c^{m} q^{n} \right\}$$
$$= (q;q)_{\infty} \sum_{m=-\infty}^{\infty} \sum_{n=0}^{\infty} N_{v}(m,n) q^{n} \left\{ \frac{b^{m+1}}{1-b} - \frac{c^{m+1}}{1-c} \right\},$$
(3.6B)

where  $N_v(m, n)$  stands for the number vector partitions of n with crank m.

Putting  $b = \lambda e^{i\theta}$  and  $c = \lambda e^{-i\theta}$  in (3.6) we have,

$$2\lambda i \sin \theta \sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{1-2\lambda q^n \cos \theta + \lambda^2 q^{2n}}$$
$$= (q;q)_{\infty}^2 \begin{cases} \frac{\lambda e^{i\theta}}{(1-\lambda e^{i\theta}) \prod_{n=1}^{\infty} (1-2\lambda q^n \cos \theta + \lambda^2 q^{2n})} - \frac{\lambda e^{-i\theta}}{(1-\lambda e^{-i\theta}) \prod_{n=1}^{\infty} (1-2\lambda q^n \cos \theta + \lambda^2 q^{2n})} \end{cases}$$
(3.7)

which on simplification gives

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(1-2\lambda q^n \cos\theta + \lambda^2 q^{2n})} = \frac{(q;q)_{\infty}^2}{(1-2\lambda \cos\theta + \lambda^2) \prod_{n=1}^{\infty} (1-2\lambda q^n \cos\theta + \lambda^2 q^{2n})}.$$
(3.8)

Taking  $\theta = 0$  in (3.8) we get

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(1-\lambda q^n)^2} = \frac{(q;q)_{\infty}^2}{(1-\lambda)^2 \prod_{n=1}^{\infty} (1-\lambda q^n)^2}.$$
(3.9)

For  $\theta = \pi/2$ , (3.8) yields

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(1+\lambda^2 q^{2n})^2} = \frac{(q;q)_{\infty}^2}{(1+\lambda)^2 \prod_{n=1}^{\infty} (1+\lambda^2 q^{2n})}.$$
(3.10)

For  $\theta = \pi$ , (3.8) yields

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(1+\lambda q^n)^2} = \frac{(q;q)_{\infty}^2}{(1+\lambda)^2 \prod_{n=1}^{\infty} (1+\lambda q^n)^2}.$$
 (3.11)

If we take  $\lambda = 1$  in (3.11) we get,

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(1+q^n)^2} = \frac{(q;q)_{\infty}^2}{2(-q;q)_{\infty}^2}.$$
(3.12)

Putting  $\lambda = 1$  in (3.10) we get

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n+1)/2}}{(1+q^{2n})} = \frac{(q;q)_{\infty}^2}{2(-q^2;q^2)_{\infty}^2}.$$
(3.13)

(iii) Putting d = 0 and  $a \to \infty$  in (2.3) we get

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n-1)/2} (1-cq^n) (1-\lambda q^n)}{(1-bq^n)} = \frac{(b-c)(b-\lambda)}{b(1-b)} \frac{(q;q)_{\infty}^2}{(bq,q/b;q)_{\infty}}.$$
 (3.14)

Comparing (3.14) with [2; (3.8) p. 34] we have,

$$=\frac{(b-c)(b-\lambda)}{b(1-b)}(q;q)_{\infty}\sum_{m=-\infty}^{\infty}\sum_{n=0}^{\infty}N_{v}(m,n)b^{m}q^{n},$$

where  $N_v(m,n)$  is the number of vector partitions of n with crank m. Taking  $q^5$  for q and then putting  $b = q^2$  in (3.14) we have

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{5n(n-1)/2} (1-cq^{5n})(1-\lambda q^{5n})}{(1-q^{5n+2})} = \frac{(q^2-c)(q^2-\lambda)}{q^2(1-q^2)} \frac{(q^5;q^5)_{\infty}^2}{(q^3,q^7;q^5)_{\infty}}$$
$$= \frac{(q^2-c)(q^2-\lambda)}{q^2} \frac{(q^5;q^5)_{\infty}^2}{(q^2,q^3;q^5)_{\infty}}.$$
 (3.15)

Taking  $q^5$  for q and then putting b = q in (3.14) we get

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{5n(n-1)/2} (1 - cq^{5n})(1 - \lambda q^{5n})}{(1 - q^{5n+1})} = \frac{(q - c)(q - \lambda)}{q(1 - q)} \frac{(q^5; q^5)_{\infty}^2}{(q^4, q^6; q^5)_{\infty}}$$
$$= \frac{(q - c)(q - \lambda)}{q} \frac{(q^5; q^5)_{\infty}^2}{(q, q^4; q^5)_{\infty}}.$$
 (3.16)

From (3.15) and (3.16) and corollary [1; (6.2.6) p. 153] we have

$$\frac{\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{5n(n-1)/2} (1-cq^{5n})(1-\lambda q^{5n})}{(1-q^{5n+2})}}{\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{5n(n-1)/2} (1-cq^{5n})(1-\lambda q^{5n})}{(1-q^{5n+1})}} = \frac{(q^2-c)(q^2-\lambda)}{q(q-c)(q-\lambda)} \frac{(q,q^4;q^5)_{\infty}}{(q^2,q^3;q^5)_{\infty}} = \frac{(q^2-c)(q^2-\lambda)}{q(q-c)(q-\lambda)} \left\{\frac{1}{1+q} \frac{q^2}{q^2} \frac{q^3}{1+q}\right\}$$

$$(3.17)$$

Taking  $\lambda = c = 0$  in (3.17) we find,

$$\frac{\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{5n(n-1)/2}}{(1-q^{5n+2})}}{\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{5n(n-1)/2}}{(1-q^{5n+1})}} = \frac{q}{1+q} \frac{q}{1+q} \frac{q^2}{1+q} \frac{q^3}{1+\dots}.$$
(3.18)

(iv) Putting  $\lambda = 0$  in (2.3) we get

$${}_{3}\Psi_{3}\left[\begin{array}{c}a,b,cq;q;1/a\\d,bq,c\end{array}\right] = \frac{(b-c)}{(1-c)}\frac{(q;q)_{\infty}^{2}(bq/a,d/b;q)_{\infty}}{(q/a,q/b,d,bq;q)_{\infty}}.$$
(3.19)

Taking  $d = c = 0, a \to \infty$  in (3.19) we get,

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(1-bq^n)} = \frac{b}{1-b} \frac{(q;q)_{\infty}^2}{(bq,q/b;q)_{\infty}}.$$
(3.20)

Replacing q by  $q^2$  and putting b = q in (3.20) and using [1; (1.1.7), p. 11] we get,

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{n(n-1)}}{(1-q^{2n+1})} = q \frac{(q^2; q^2)_{\infty}^2}{(q; q^2)_{\infty}^2} = q \Psi^2(q).$$
(3.21)

Replacing q by  $q^8$  and b by q in (3.20) we get,

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{4n(n-1)}}{(1-q^{8n+1})} = q \frac{(q^8; q^8)_{\infty}^2}{(q, q^7; q^8)_{\infty}}.$$
(3.22)

Again, replacing q by  $q^8$  and b by  $q^3$  in (3.20) we find,

$$\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{4n(n-1)}}{(1-q^{8n+3})} = q^3 \frac{(q^8; q^8)_{\infty}^2}{(q^3, q^5; q^8)_{\infty}}.$$
(3.23)

Taking the ratio of (3.22) and (3.23) and using [1; (6.2.38), p. 154] we get,

$$\frac{\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{4n(n-1)}}{(1-q^{8n+3})}}{\sum_{n=-\infty}^{\infty} \frac{(-1)^n q^{4n(n-1)}}{(1-q^{8n+1})}} = \frac{q^2}{1+} \frac{q+q^2}{1+} \frac{q^4}{1+} \frac{q^3+q^6}{1+\dots}.$$
(3.24)

(v) Taking  $d = q, a \to \infty$  and c = 0 in (3.19) we get,

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{n(n-1)/2}}{(q;q)_{\infty} (1-bq^n)} = \frac{b}{1-b} \frac{(q;q)_{\infty}}{(bq;q)_{\infty}} = \frac{b(q;q)_{\infty}}{(b;q)_{\infty}}.$$
(3.25)

62

Replacing q by  $q^3$  and putting  $b = q^2$  in (3.25) we get,

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{3n(n-1)/2}}{(q^3; q^3)_n (1-q^{3n+2})} = q^2 \frac{(q^3; q^3)_\infty}{(q^2; q^3)_\infty}.$$
(3.26)

Again, replacing q by  $q^3$  and b by q in (3.25) we have,

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{3n(n-1)/2}}{(q^3; q^3)_n (1-q^{3n+1})} = q \frac{(q^3; q^3)_\infty}{(q; q^3)_\infty}.$$
(3.27)

Taking the ratio of (3.26) and (3.27) and using [1; (7.1.1), p. 179] we get,

$$\frac{\sum_{n=0}^{\infty} \frac{(-1)^n q^{3n(n-1)/2}}{(q^3; q^3)_n (1-q^{3n+1})}}{\sum_{n=0}^{\infty} \frac{(-1)^n q^{3n(n-1)/2}}{(q^3; q^3)_n (1-q^{3n+2})}} = q^{-1} \frac{(q^2; q^3)_\infty}{(q; q^3)_\infty} = \frac{q^{-1}}{1-1} \frac{q}{1+q^{-1}} \frac{q^5}{1+q^2-1} \frac{q^5}{1+q^3-\dots}.$$
 (3.28)

Putting  $q^4$  for q and b = q in (3.25) we get,

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{2n(n-1)}}{(q^4; q^4)_n (1-q^{4n+1})} = \frac{q(q^4; q^4)_\infty}{(q; q^4)_\infty}.$$
(3.29)

Putting  $q^4$  for q and  $b = q^3$  in (3.25) we find,

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{2n(n-1)}}{(q^4; q^4)_n (1-q^{4n+3})} = \frac{q^3 (q^4; q^4)_\infty}{(q^3; q^4)_\infty}.$$
(3.30)

Taking the ratio of (3.29) and (3.30) and using [1; (7.1.2) p. 179] we get

$$\sum_{n=0}^{\infty} \frac{(-1)^n q^{2n(n-1)}}{(q^4; q^4)_n (1-q^{4n+1})} = q^{-2} \frac{(q^3; q^4)_\infty}{(q; q^4)_\infty} = \frac{q^{-2}}{1-1} \frac{q}{1+q^2-1} \frac{q^3}{1+q^4-1} \frac{q^5}{1+q^6-\dots}.$$
(3.31)

A number of similar results can also be deduced.

#### References

- Andrews, G. E. and Berndt B. C., Ramanujan's Lost Notebook, Part I, Springer 2005.
- [2] Andrews, G. E. and Berndt B. C., Ramanujan's Lost Notebook, Part V, Springer 2018.
- [3] Bhargava S., and Adiga C., A basic bilateral series summation formula and its applications, Integral transforms and special functions, 2(3) (1994), 165-184.
- [4] Exton H., q-Hypergeometric Functions and Applications, Ellis Horwood Limited, Halsted Press, a division of John Willey & SOns, New York, 1983.
- [5] Gasper G. and Rahman M., Basic Hypergeometric Series (Second Edition), Cambridge University Press, New York, 2004.
- [6] Singh Satya Prakash, Yadav Vijay, On Certain Transformation Formulas Involving Basic Hypergeometric Series, Proceedings of National Academy of Sciences, 90 (2020), 623-627.
- [7] Singh Satya Prakash, Singh S. N., Yadav Vijay, A note on symmetric Bilateral Bailey transform, South East Asian J. of Math. & Math. Sci., Vol. 15, No. 1 (2019) 89-96.
- [8] Srivastava H. M., Singh S. N., Singh S. P., Yadav Vijay, A Note on the Bailey Transform, the Bailey Pair and the WP Bailey Pair and Their Applications, Russian Journal of Mathematical Physics, Vol. 25, No. 3 (2018), 396-408.
- [9] Srivastava H. M., Singh S. N., Singh S. P., Yadav Vijay, Certain Derived WP-Bailey Pairs and Transformation Formulas for q-Hypergeometric Series, Filomat, 31, Issue No. 14 (2017), 4619-4628.
- [10] Srivastava H. M., Singh S. N., Singh S. P., Yadav Vijay, Some conjugate WP-Bailey pairs and transformation formulas for q-series, CREAT. MATH. INFORM., 24, No. 2 (2015), 199-209.
- [11] Yadav Vijay, On Certain Summation Formulae for q-Hypergeometric Series, South East Asian J. of Mathematics and Mathematical Sciences, Vol. 16, No. 2 (2020), 103-110.